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Choose the correctly spelt word.
(1) Defalcation

(2) Difaleation

(3) Defalcasion

(4) Defalcatation
e & qewn ms &
(1) &9

(2)

3) =@

(4) 99

1[Option ID=19201]
2[Option ID=19202]

3[Option ID=19203]
4[Option ID=19204]

Sl. No.2
QBID:1555022

Given below are four sentences in jumbled order. Select the option that gives their correct order.
A. Once on their way, the stones did not stop until they reached the bottom of the hill.

B. You had to be very careful not to start a landslide.

C. Loose stones rattled down the cliff.

D. And they took other stones with them. so that there was soon a cascade of stones.

Choose the correct answer from the options given below :
1) C.A.D.B
2) B.A.D.C
3) B.C.A.D
(a) C.D.B.A

4 & FY AU 71U §: US SHTUHYUT (Assertion A) & &0 1 [AREd g T GERT 3HP PRI (Reason R) & $T H:
HUFHYT A : SPRIG T4 WA § |

HRUIR : Al THT G118 | $© Yeg HUATE 51 6. SHICIU BRI 5id gU i gl Wi g1 § |
JURIE YU & 3Teiles H, Hid [SU U g eul & I 9ad Iugad SR &1 997 i |

(1) ASRREH TEIE AMRR AT TEl arEn ©

(2) A3RREH TEE AfPTR AP IS UrE e

(3) AGEIE AR TET TR ®

@ AT TS AR TE

1[Option ID=19245]
2[Option ID=19246]
3[Option ID=19247]
4[Option ID=19248]
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Choose the correct sentence.
(1) We went to the station to see them off.
(2) We went to the station to see them out.




(3) We went to the station to goodbye them.
(4) We went to the station to say them goodbye.

ﬁaaﬂ?ﬁ?‘é"@%’@&ﬁiﬁﬂ? (ASSCl'tionA)%mﬁ%@ﬁ%ﬁwmmmeasonRj*Wﬁ:

fiymeyT A ¢ ToT T v © |

FRU R : o0 oFRia 9=k & | AT 9 s@Ria wee qfee T8 8 © |

IURIEd B & TS A, A G0 T el § 9 999 99gad JuY B 969 S
(1) ASRRIF 8§ IRR, A ¥ w8 o &

(2) A SRR 3H 96 & fEa R, A 9 981 sorem @ 8

(3) AvfigafaR T AE 2

(4) ARz R EE R

1[Option ID=19273]
2[Option ID=19274]
3[Option ID=19275]
4[Option ID=19276]
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QBID:1555024

Match List T with List II

List I (Wood) List IT (Synonym)
A, [pervasive I filter
B. [sieve II.  widespread
C. |potent III.  Inetting
D. lmesh IV jpowerful

Choose the correct answer from the options given below :
(1) A-IL B-I, C-IV, D-III
(2) A-IV, B-III, C-II, D-I
(3) A-IV, B-I, C-IIIL, D-II
(4) A-III, B-I, C-II, D-IV

a1 19 F1Y Gl 11 D1 [ iy
T 1 Tt 11
TeAr [ [=iifd e

A [emR

B. [®3Tdel gl 1 |[YRT 3maf 31 S
C. [Pais Gar 111 |forsl & 3R OR 191
D. [Goial dSTgHT IV, [He e §Hl

= fSu U [d@ el § O 9l 3Ux &1 994 i
(1) A-IIL B-IIIL, C-IV, D-I
(2) A-IIL B-IV, C-I, D-II
(3) A-IV, B-I, C-II, D-III
(4) A-L B-IL, C-IIL. D-IV

1[Option ID=19277]
2[Option ID=19278]
3[Option ID=19279]
4[Option ID=19280]
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Which two of the following are in correct form ?
A. Let's go to the cinema, shall we ?

B. Let's go to the cinema, do we ?

C. Let's not go to the cinema, shall we ?

D. Let's not go to the cinema, shan't we ?

Choose the correct answer from the options given below :
(1) A and D only

(2) A and C only

(3) B and D only

(4) B and C only

Rmar fFa g I s W 8 2

(1) Tiofs urg

(2) SRumfE Uy

(3) M H1g

(4) Hg= g

1[Option ID=19281]
2[Option ID=19282]
3[Option ID=19283]
4[Option ID=19284]
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Choose the option which is opposite in meaning to the following word:

Castigate

(1) Commend

(2) Reprimand

(3) Flagellated

(4) Commotion

T @ WelE BT T e g ?

(1) = & oio=ia 99 el § |

(2) T=ga & ff wvmTa S T §

(3) =fEaEs eria T I sgaa- & figa gl ot 2 1

(4) T eRIfEM e S g R SR T F AR T T ¢ |

1[Option ID=19285]
2[Option ID=19286]
3[Option ID=19287]
4[Option ID=19288]
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Identify the correct indirect narration for the following sentence :

"Who now." they had asked. "Will listen to our troubles and protect us from the crocodiles” ?

(1) They had wanted to know who would listen to their troubles and protect them from the crocodiles.

(2) They had wanted to know who then would listen to their troubles and protect them from the crocodiles.
(3) They had wanted to know who will now listen to their troubles and protect them from the crocodiles.

(4) They wanted to know who will listen to their troubles and protect them from the crocodiles.




fora e &1 IR oia <ifaw 9g U= 5, S Ty 99N $Ed © | W9 SaTey gie |

A gfgmEs
B. &&mquf
C.=g9%=
D. Sy
E. 3maH
=i fau U el # @ 99 9Ugsd 9IR #1994 SIS
(1) ¥@@W A, B. D
(2) ®WB.C.D
(3) FWC.A. B
(4) #UD.E. C

1[Option ID=19289]
2[Option ID=19290]
3[Option ID=19291]
4[Option ID=19292]
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Which of the following is a one-word substitute for 'safe to drink' ?
(1) Potable

(2) Suitable

(3) Edible

(4) Pliable

WHT 59 Weg B (95 # § SH-91 i e § 7
(1) R4

(2) F@e

(3) =iy

(4) TwEE

1[Option ID=19293]

2[Option ID=19294]

3[Option ID=19295]
4[Option ID=19296]
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TIdentify suitable preposition from the options given below to compute the sentence.

Neha would think it her to do such a small work.

(1) under
(2) below
(3) above
(4) beneath

FmffEa & ge e § -
A, SETETR
B. W=
C. frER

D. &S
E. =3

i fau 1y fgsedi | | 999 Iuge 9T &1 904 S
(1) T A, B. C
(2) 3@ B. C.D

(3) ®@ C.D.E
(4) @ A.D.E

1[Option ID=19297]
2[Option ID=19298]
3[Option ID=19299]
4[Option ID=19300]
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Identify the active voice for the following sentence :

These things have been left here by an unknown person.
(1) An unknown person leaves these things here

(2) An unknown person have left these things here

(3) An unknown person has left these things here

(4) An unknown person had left here these things

T[E 9T H1 98 S |

(1) TP SHE B G € o |

(2) 1S S TS S B |

(3) TU® & & gI1 & f |

(4) O & TS I & o |

1[Option ID=19205]
2[Option ID=19206]
3[Option ID=19207]
4[Option ID=19208]
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Amid economy crisis and political turmoil m Sri Lanka who has been appointed as the new PM of Sri Lanka.
(1) Maithripala Sirisena

(2) Ranil Wickremesinghe

(3) Mahinda Rajapaksa

(4) Gotabaya Rajapaksa

Siciat & anfifer Yare Ua oo =i & S dideT & Ta1 vy 59 Frged e mar g 2

() Ffare F{RET

@) T fasafdd

O EEARIE B2

(4) TETTT IS4

1[Option ID=19209]
2[Option ID=19210]
3[Option ID=19211]
4[Option ID=19212]

Sl. No.12
QBID:15550212

Who has become the First female to took the office of President of Tanzania and the third woman head of the govermment of country in
East African Community ?

(1) Samia Suluhu Hassan
(2) Agathe Uwilingiyimana
(3) Sylvie Kimigi

(4) Sahle-work-Zewde
A & pufd S Ug 4R T50 S arell e afean SR gif sieiet eaEe § aw @ SR wiE o= ol died wfgen a9 &+ 2
(1) T g §56

(2) arma SRRFREER

(3) Tyeal i

(4) WEU-9% Wag

1[Option ID=19213]
2[Option ID=19214]

3[Option ID=19215]
4[Option ID=19216]
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India held the first spot in the International Shooting Sport Federation World Cup 2022 which was being held in :




(1) India

(2) China

(3) UAE.

(4) Egypt

SCHRAT YIS WIE Hhe¥H ds U 2022 H YRA = TUH RIF 9w 61, i smieH o gan o :
(1) YRd

@ =i

3) U

) foy

1[Option ID=19217]
2[Option ID=19218]
3[Option ID=19219]
4[Option ID=19220]
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Who has won the Men's Single Title at 79th Edition of the Ttalian Open being held in Rome ?
(1) Stefanos Tsitsipas

(2) Novak Djokovic

(3) Ratfael Nadal

(4) Roger Federer

T H TR gerfera= Siuq % 799 S § 99 ol & UST (Aare &I e oial ?
(1) =g R

(2) Fw SwiEE

(3) Wra Fem

(4) IoR e

1[Option ID=19221]

2[Option ID=19222]

3[Option ID=19223]
4[Option ID=19224]
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‘What is the current year estimation of the GDP growth according to the Nirmala Sitharaman in the Union Budget 2022-23 ?
(1) 9.5%

(2) 9.9%

(3) 9.2%

(4) 8.5%

e Hiarmw g1 T $EE a9 2022-23 © ATIR 91 78 @1 oS 9fE 1 egEE e € 2
(1) 9.5%

(2) 9.9%

(3) 9.2%

(4) 8.5%

1[Option ID=19225]

2[Option ID=19226]

3[Option ID=19227]
4[Option ID=19228]

Sl. No.16
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All the intellectuals are very emotional, because :
A. They are thinking beings

B. They are logical beings

C. They are mathematical beings

D. They are philosophers

E. They are layman

Choose the correct answer from the options given below :
(1) A.D Only
(2) B. C Ouly
(3) C.E Ouly
(4) D. E Only

TR gt sgd WgE B € i

A, T G g uil
B. T aifee umft & |
C. & miftrdig uni § |
D.3deEfaE & |

E. 9IS & |

1 fau U el # @ 999 9uge 9IR #1994 S
(1) ¥TWA. D
(2) ¥ B, C

(3) FT@C.E
(4) @@ D. E

1[Option ID=19229]
2[Option ID=19230]
3[Option ID=19231]
4[Option ID=19232]
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Choose the best options for football players :

A. Player 'XYZ' shows team spirit

B. Player 'XYZ' have sportsmanship

C. Player 'XYZ' have hatred for other team-mates
D. Player 'XYZ' shows jealousy

E. Player 'XYZ' shows patience

Choose the correct answer from the options given below :
(1) A.B. C only
(2) A and C only
(3) B.C.D only
(4) A.B.E only




e & [Eenisdl & &y g [geey gy |

A. fEadl 'XyZ' &8 yie veftfa s & |

B. it 'XyZ' # Sw-yigr e |

C. g 'XYZ' # su du-vewf F A gun ¢ |
D. f&@E 'XyZ' wa- weitfd sar & |

E. fEemdt 'XYZ' & vyeftfd S 2 |

19 fow U fasedt & ¥ S99 SUgEd IR B 994 SO
(1) FMWA.B. C
(2) FITA SR C
(3) ¥@B.C.D
(4) FTW A, B.E

1[Option ID=19233]
2[Option ID=19234]
3[Option ID=19235]
4[Option ID=19236]
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A person can learn Sanskrit without a teacher :

A Tt 1s not possible learning Sanskrit without a teacher: as it is a technical subject.
B. It is possible to learn Sanskxit as it is non-technical subject.

C. Anyone can learn it; as it is just a language.

D. It can be learned by daily practice under a teacher.

E. It is easy for a person, who know Hindi language.

Choose the most appropriate answer from the options given below :
(1) A and E only

(2) B. Cand D only

(3) A.B and E only

(4) A and D only

i3 oafed fa1 fasll sraTs & Teoa e 9@ &

A. &1 eromoE ¥ Tepa diE 9RE T E, T 0% UF aeiel AR |
B. ¥55hd diE-T 9mg ¢ Fif 98 U6 R-aFHe! [ug

C. S8 =i 1 9rg e & w0ilE U $o0 UF U B |

D. Tz &5 eramos 1 suva ¥ 3fe anar & mream 9 i aedi B |
Emftdfivoeon El o s tmama s |

=9 fou U fasedt & @ 99 SUgSd 3R & 904 S
(1) FTTA SRE

(2) ¥T@B, C 3R D

(3) $TAA, B IR E

(4) FOUA FRD

1[Option ID=19237]
2[Option ID=19238]
3[Option ID=19239]
4[Option ID=19240]
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Give below are two statements :
Statement I : Pollution level in Delhi may be reduced by reducing the factories.
Statement IT : All factories are creating noise pollution and are dangerous to health.

In the light of the above statements. choose the correct answer from the options given below
1)
(2)
3)
(4) Statement I is incorrect but Statement II is correct

TR d R feu m g

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I is correct but Statement II is incorrect

HY | ; fawht & UgHo &1 R $REH 9 $ 71T § 9er] of 96l § |
FYT ] | ; 9R FREH AH-HEU TF Y © SR Wl & [0 96 ¢ |

SR BY & H@lS #, 4 1§Y 70 el # ¥ 999 Sugead IR &1 90 S

(1)
(2)
(3)

S [ SR I 2 T B
HU | Sk 11 21 e
FRITE AT A TEE e

(4) SYA [ T &, dfeed Sy 11 981 8
1[Option ID=19241]
2[Option ID=19242]
3[Option ID=19243]
4[Option ID=19244]
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Give below are two statements :
Statement I : Education is important for both male and female.
Statement II : Government must encourage co-education. as it is required for country's development.

In the light of the above statements. choose the most appropriate answer from the options given below
(1)
(2)
(3)
(4) Statement I is mcorrect but Statement IT is correct

913 & o e Mo &
FUT [ - quT SR Afemsd, ST, F o fen Aeaqei € |
FUT] | : TWER F1 T5-161 F1 WeHe &1 Ty Fife 75 0 % Fe™ & i smws §

Both Statement I and Statement II are correct
Both Statement I and Statement IT are mcorrect
Statement I is correct but Statement II 1s incorrect

IuiE FYF & S 4, A fay Ty fecd § § 999 Juged I &1 994 S0

(1)
(2)
(3)

CRE B TR i
®Y [ 3R 11 21 7Tod §
T 98 8 o s I oa &

(4) FY= ] T & A e 11 98
1[Option ID=19249]
2[Option ID=19250]
3[Option ID=19251]
4[Option ID=19252]
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E 5 i then the valueof ., 1 s
X +—=2 X+ —
x x
(1) =2




(2) =8

3) =1
(4) =4
alg 1 @, 1 FHIAEGA-
x+—-=2 D o
s x
(1) =2
(2) =8
3) =1
4) =4

1[Option ID=19253]
2[Option ID=19254]
3[Option ID=19255]
4[Option ID=19256]

Sl. No.22
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Give below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : If the volumes of two cubes are in the ratio of 3:27 then their surface areas are in the ratio of 4:9.
Reason R : If the swiface areas of two cubes are in the ratio S| : §;. then their volumes are in the ratio §7° - 537

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A

(3) Aistrue but R is false
(4) Ais false but R is true

1 3 S AU TTU & TS SHHYUT (Assertion A) & &0 H fAREd g Tl GO 3P PRI (Reason R) & $T H:
HTUHYT A : AE G- & ST BT S 3:27 © df 395 a6 AP B AT 4:9 TR
BRUIR : T &1 941 & Hag S7D DI S S, : 5> 6 Al 37 Y BT UM 52 - 53¢ BNl

JRIGT $UA S AP 4, - 120 70 [dwedi I T 61 IR &1 907 S |

(1) ASRREAIIAE IRR ADI TS AR E

(2) AJRRIA TAE, APTR. AT Te BT Tl ©

(3) AR AfGTR 3ETE
(4) AT APIRTAT

1[Option ID=19257]
2[Option ID=19258]
3[Option ID=19259]
4[Option ID=19260]
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If the high and base radius of a cone are increased by 50% and 25% respectively then the ratio between the volume of a given cone and
the new cone is

(1) 8:27

(2) 75:32

(3) 32:75

(4) 27:8

g1 (il 2 1 3918 3R SR B0 BT HHRE: 50% HR 25% T¢I 1481 9IY dl R P SR T4 WP & 317a- 1 39T s -
1) 8:27

(2) 75:
(3) 32:
(4) 27:

%)
L "I )

[ s |

1[Option ID=19261]
2[Option ID=19262]




3[Option ID=19263]
4[Option ID=19264]
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The probability of selecting a vowel from the word TRIANGLE is -

=& TRIANGLE # 9 0% R T &1 Iididal &1 Gril-

COltn GOl b ol = | b2 = G201 WA COI L GOl = ] b2

1[Option ID=19265]
2[Option ID=19266]
3[Option ID=19267]
4[Option ID=19268]
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If one root of quadratic equation 9,2 _3,4(2x+1) =0 is five times the other then the value of k is :
3

1) —
16

(2) -

[N IV ;lw

(3) -

3
4) -
g

SETT TSR 9.2 3, 4 (24 1) =0 P TS T G PI Ui A1 & fl k 1 HI 71 §FT 2

3
(1) —
16

(2) -

(3) -

[<- NIV ;lw

3
4) -
g

1[Option ID=19269]
2[Option ID=19270]
3[Option ID=19271]
4[Option ID=19272]
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A sample of soil weighs 27.8 g and has a volume of 15.20 em?. If the dry mass of sample is 24.57 em? and the specific gravity of soil
grains is 2.7, its void ratio should be equal to

(1) 0.52

(2) 0.59

(3) 0.67

@) 0.74




TF T2 F Wiaes ®1 YR 27.8 W § SR mmad 15.20 343 21 o vitesl ¥ v som F ammas = A 24,57 93 § R ga =0t 3 fafhy Tea
2.7 & Ol S9% ad Sgurd &1 319 391 §F

(1) 0.52

(2) 0.59

3) 0.67

(4) 0.74

1[Option ID=20501]

2[Option ID=20502]

3[Option ID=20503]
4[Option ID=20504]
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Identify the correct expression that may be used to determine the submerged unit weight (v') of soil. (7= Total volume of soil sample:; 7
;= Volume of solids: v, = Unit weight of water; v, = Dry unit weight of soil; G = Specific gravity of soil grains)

(1) '}r': V‘qfh'(.G_l)
V
2) ,.f,1 o l’_\.?d((]"'l)
¥V
v P’u"f'u'
3) V= -
& = ye-n
I V\'Yn'
4) Y
@G-

721 & 7 9E@ HR (y) F1 P s 9l kA sfiefEa &1 gl

4 = a1 B [ 7S UR

G = a1 &0 &1 Ry Toa

(1) J’=VH'+G_D

() ":’1=w
%

(3 I=.i%

(@ I=%

1[Option ID=20545]
2[Option ID=20546]
3[Option ID=20547]
4[Option ID=20548]
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Given below are two statements:

Statement I : The gain in strength of soil with passage of tune after it has been remoulded is called Thixotropy.

Statement II : Thixotropy indicates how much shear strength will be regained after a pile has been driven and left in place for some
time.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement I is incorrect

(4) Statement I is incorrect but Statement II is correct




I RTmE:

BYA [ : T T99 & SIRId, T99 & T Ta1 S Jeadl § ghg Suratidl searnd el

DR 11 : UF 09 (M50 &1 9o #4  Us ®H R 58 990 & O 3154 F SIRia H0=90 yaedal § g5 O 3fs #1961 &1 g’ 3l
I FYA & AEE H, A4 28 T GEdl § 9 96 9K &1 999 Sl

(1) -1 3R 11 99 5 &

(2) wyA-] 3R I1 ST oma &

(3) Fu=-1 99 & dfe" sY=-11 39a &
(4) FuF-] 399 & AT sy=-11 9@ &

1[Option ID=20589]
2[Option ID=20590]
3[Option ID=20591]
4[Option ID=20592]
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Liquid limit, plastic limit and shrinkage limit for a soil sample are given as 40%. 25% and 12% respectively. If the natural water content
of the soil is 28%, then the consistency mdex will be about
(1) 40%
(2) 55%
(3) 70%
(4) 80%
ofe <t 1 & vitesf &t 5o i, goer manfees) S R Rigsa 99 40%. 25% IR 12% € 75 21 ofg qe1 =1 wefas 9w o 28% B & Suet
UG CEAEAC IR
(1) 40%
(2) 55%
(3) 70%
(4) 80%
1[Option ID=20633]
2[Option ID=20634]

3[Option ID=20635]
4[Option ID=20636]
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A sand deposit comprises of three distinct horizontal layers of equal thickness. The hydraulic conductivity of the topmost layer. middle
layer and the third layer 1s 0.002 em/s. 0.01 cm/s. and 0.001 em/s respectively. The equivalent value of vertical hydraulic conductivity
of this sand deposit is about

(1) 0.001 cm/s

(2) 0.002 cm/s

(3) 0.003 cm/s

(4) 0.004 cm/s

U% 919 8T 9 T SRR J1eE 31 &fow Wl B &4 gof 81 afe e Jradedl 999 $HUdl URd, 7 WRd SR de 1=d $1 0,002 S4,/8%508, 0.01
S, R 0.001 R,AF0s &, & 51g FE B Il Iuad T F1 e A1 T F1 8RR

(1) 0.001 977,THvs
(2) 0.002 94/SH08
(3) 0.003 ¥ AFvs
(4) 0.004 941,/ Hvs

1[Option ID=20677]
2[Option ID=20678]
3[Option ID=20679]
4[Option ID=20680]
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As per the Indian Standard Classification (ISC) adopted by the Bureau of Indian Standards, the symbol used to represent silt is

(1) 8
(2) C
e M
(4) O
T A e (ISC) ¥ Sia, HRd 7 o @t 3, 9w (i) @ auty & Ry Pafifes § 9 #9-8 fre aww fea




(1) S
(2) C
3 M
4 O
1[Option ID=20721]
2[Option ID=20722]

3[Option ID=20723]
4[Option ID=20724]

Sl. No.32
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Given below are two statements:

Statement I : The coefficient of volume change depends upon the effective stress at which it is determined.
Statement II : The value of coefficient of volume change increases with an increase in the effective stress.
In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I is correct but Statement IT is incorrect

(4) Statement I is incorrect but Statement II is correct

BIEE AT TR e

YA [ 1 HEGH TiEaE $1 Ui, 39 TUTE uitae W i w2 e W suer 9= e T e 2
PR 1 : TG UNacH 1 AF, THIE Jiaes ag & Sgar 2

SR FYH F A 5, A fGu e e § § 98 o 1 9 e

(1) FyE] SR SH g €

(2) HYA-] 3R 11 37 o &

(3) ®YA-]1 99 &, A BYA-1] 39 &
4) Tl T s dfET -1 SO §

1[Option ID=20765]
2[Option ID=20766]
3[Option ID=20767]
4[Option ID=20768]

Sl. No.33
QBID:86914248

The unit of measurement of coefficient of compressibility is
(1) kN/m?

(2) m?kN

(3) kN/m?

(4) m/kN

Hdteal Ui © @G BT AES o0 67

(1) kN/m?

(2) m?/kN

(3) kN/m?

(4) m¥kN

1[Option ID=20793]
2[Option ID=20794]
3[Option ID=20795]
4[Option ID=20796]

Sl. No.34
QBID:86914249

The equation given by Coulomb for shear strength () of a zoil at a point on a particular plane expressed as a linear function of the
normal stress on that plane 1s (where c 1s cohesion and O 1s angle of internal friction).

1) s=(0 +c)tand
) s=(c+C )/tanO
3) s=0 +ctandd
(4) s= ¢+ G tanO

71 1 64 firg W Us FHf¥a 9aas X 9 yeedl &, 39 a6 W 9 Haad & 86 50 & w9 § amaiie 9 sfieged fEa o 81 @8 ¢
= HaoH § R [ SAfae a¥ure 1) o Fefifed &-

) s=(C +e¢)tand
(2)




§=(c+ G )/tanO
3) s=0 +ctand
(4) s=c+ O tanl
1[Option ID=20797]
2[Option ID=20798]

3[Option ID=20799]
4[Option ID=20800]

Sl. No.35
QBID:869142410

The triaxial compression test may be used to determine shear characteristics of

(1) Cohesionless soils under drained condition

(2) Cohesive soils under undramned condition

(3) Both cohesionless and cohesive soils under dramed condition
(4) All types of soils under different drainage conditions

s wdis wdeor & FefifEa § 3 fraet sy Bvanst &1 a1 & fag far o &
(1) e ed Hal ey Ry & e

(2) Ho® Hal oG Ry F siera

(3) TuH Ed gaT iR SEve gel el waeed Rl ¥ owa

(4) Tt g1 vER, faftm wafee Rufaat ¥ s

1[Option ID=20505]
2[Option ID=20506]
3[Option ID=20507]
4[Option ID=20508]

Sl. No.36
QBID:869142411

Standard penetration test is carried out on silty fine sand. If the recorded penetration number (Ng) is 13. then the penetration number
corrected for dilatancy (N) should be equal to

(1) 12

(2) 13

(3) 14

4) 15

WIS A L0 W U5 ST 919 W B0 o1 71 9fg siufiad du g8 (Ng) = 13 B1 @ 39 dem &1 1 fras guR we (N ) & R
T wTen &, 7 B

(1) 12

(2) 13

(3) 14

4) 15
1[Option ID=20509]
2[Option ID=20510]

3[Option ID=20511]
4[Option ID=20512]

Sl. No.37
QBID:869142412

Given below are two statements:

Statement I : The factor of safety of an infinite slope of a cohesive soil depends upon the height of the slope.
Statement II : The stability numbers can be used for the analysis of purely cohesionless soil slopes.

In the light of the above statements. choose the most appropriate answer from the options given below:
(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement I are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is mcorrect but Statement IT is correct

TR mERRrmE; ,

DY [ : U6 WHOF el & U6 I-d gaH &1 R SRS, o & hals X (R Il ¢

DR 11 : AR e &1 VarT % 6e- ded el & goe & [aeeeu % & fEa o 2

FRIEd Y & HdiS 4, A fgu U e § § 951 IR &1 994 i

1) Tl SR A @ §
(2) ®YA-I 3iR -I1 ST 3/ &
(3) FYI 9@ &, die" su=-1l 39O &




1) FyA-] 3w B, dfeT -1 9a &

1[Option ID=20513]
2[Option ID=20514]
3[Option ID=20515]
4[Option ID=20516]

Sl. No.38
QBID:869142413

Which of the following is the correct form of Boussinesq’s Equation used to compute vertical stress (o) at a particular point located at
a depth z and at a horizontal distance r from the vertical axis through the point load Q acting on the surface.

_ 3Q
oY) . g
1
Iz’ |:] +[;] }
2Q
Tz = z 5
@ 3:117 1+(r] ]
3Q
Zx= = T
(3) B
2nz 1+(£] ]
&
7
Oz = it

2
a 2
“ 37[12[]4—[1} :‘

o § @ sH-a1 SRA wHier $1 3R w9 2, s var B g R - e W et e gl SwiR oy 9 - 2 ok 98 6 4R Wag waw
TgT &, SR wfey Bt T B % g e e 2

_ 3Q
(1) . 27
1
21’[.12 |:] +[;] }
20Q
Tz = z o312
2
S I ]
3Q
Fz= = 32
(3) 2
2:122 1+(£] ]
Z
2Q
Tz = 32

1[Option ID=20517]
2[Option ID=20518]
3[Option ID=20519]
4[Option ID=20520]

Sl. No.39
QBID:869142414

Which of the following is not a category of bearing capacity failure classified by Vesic?

(1) General Shear Failure
(2) Local Shear Failure
(3) Regional Shear Failure

(4) Punching Shear Failure

e arifew F gur Pefiiea § § Sh-a e @) ufa ow &1 agg @) 76 &
(1) SUF SHFE T




(2) =EHE J9=Iw 91d
(3) &3 sm=um 9
(4) =TA HTEUU U

1[Option ID=20521]
2[Option ID=20522]
3[Option ID=20523]
4[Option ID=20524]

Sl. No.40
QBID:869142415

The net soil pressure that can be safely applied to the soil considering only shear failure is termed as

(1) Net ultimate bearing capacity
(2) Net allowable bearing pressure
(3) Net safe bearing capacity

(4) Ultimate bearing capacity

S AR U BT W1 H TG U GRAE e el <@ O e FaT uR o o St HEA B
(1) e = fegmr (g i

(2) ¥e 3 feaar qe

(3) =T Qg feamr e

(4) =T fegam e

1[Option ID=20525]

2[Option ID=20526]

3[Option ID=20527]

4[Option ID=20528]

Sl. No.41
QBID:869142416

The ST unit of dynamic viscosity is
(1) m?s

(2) N-m/s?

(3) N-s/m?

(4) s/m?

T T1 1 SI AES 301 5

(1) m?/s

(2) N-m/s?

(3) N—s/m?

(4) g/m?

1[Option ID=20529]
2[Option ID=20530]
3[Option ID=20531]
4[Option ID=20532]

Sl. No.42
QBID:869142417

The diameter at the inlet end of a tapered pipe 1s halved at the outlet end. If the flow velocity of an mcompressible fluid at the mlet end
is given as v, then the flow velocity at the outlet end should be

(1) 0.25v

(2) 0.5v

(3) 2v

(4) 2v

TS FSHR e &1 9 e 3R | Wafle 3R $1 goa1 & o 51 91d1 & 3ie UF 3Fisy 59 &1 Vol o Waflie] 3R W v § o WaTg & &1 714 78
(FeeTR) SR W% &1 5

(1) 0.25v

(2) 0.5v

(3) v

(4) 2v

1[Option ID=20533]

2[Option ID=20534]

3[Option ID=20535]
4[Option ID=20536]




Sl. No.43
QBID:869142418

A sluice gate 3m wide and 2m deep is placed in water such that the top of edge of the gate is 3m below the free surface of water. The
depth of pressure will be located at below the free surface of water.

(1) 3.88m

(2) 4.00m

(3) 4.08m

(4) 488 m

TF TAEaR (WEY gN) 9 341, 91571 SR 2 fiex 750 § F1 OF § 59 TR T 91 § 5R 1 S0 SR Ul F 75 98 & 3 Hiex A= 71 o & TS o
FHRIE S BIEkuil

(1) 3.88 #Hiex

(2) 4.00 Hex

(3) 4.08 Hiex

(4) 4.88#iex

1[Option ID=20537]

2[Option ID=20538]

3[Option ID=20539]
4[Option ID=20540]

Sl. No.44
QBID:869142419

The diameter of a pipe is suddenly doubled. If the velocity of flow of water before enlargement is 2 m/s, then the headloss due to this
sudden enlargement will be

(1) 0.06m

(2) 0.11m

3) 0.24m

(4) 0.67m

TS A B T EFE gl g1 a1 wTal 71 af Ut & vare &1 3 fadys 3 usd 2 #/8%0s 2 & fidus $ eRu g g 5 s
(1) 0.06 #eX

(2) 0.11 #i=X

(3) 0.24 HieX

(4) 0.67 HieX

1[Option ID=20541]

2[Option ID=20542]

3[Option ID=20543]
4[Option ID=20544]

Sl. No.45
QBID:869142420

A nearly hemispherical boulder of radius 1 m is lying on the bed of a canal as shown in the following figure. If the depth of water in the
canal is 4m. then the vertical component of hydrostatic force on the boulder will be about

-

(1) 1500 kg
(2) 5500 kg
(3) 8500 kg
(4) 10500 kg

% eean sl e e &1 e | S 8 S U6 95 F 00 W) @ o § e B F faa w2 o § ol #aes 4 98 O o W
TFlfPa o1 SEIY Ues NHT = 5

-

(1) 1500 f&am
2)

4m

4m




5500 f&m
(3) 8500 f&a.
(4) 10500 f&m.
1[Option ID=20549]
2[Option ID=20550]

3[Option ID=20551]
4[Option ID=20552]

Sl. No.46
QBID:869142421

A 20 mm dia pipe carries water at a velocity of 2.5 m/s. If the value of Reynolds number is given as 1280, then the head loss per
kilometre through the pipe should be about

(1) 450 m

(2) 670m

(3) 780m

(4) 920 m

T 20 e oo & T # ol 1 9 2.5 AL Aevs 21 ol e g w1 Am 1280 femn man 21 e g &1 84 A # ufy fedder @y e
B2

(1) 450 AR

(2) 670 iR

(3) 780 #HiX

(4) 920 #HiX

1[Option ID=20553]

2[Option ID=20554]

3[Option ID=20555]
4[Option ID=20556]

Sl. No.47
QBID:869142422

Two pipes such that the diameter of one is twice that of the other, are used to carry water from one tank to another. Given the
conditions that both the pipes have the same value of f. both tanks have different water surface elevation and minor losses being
negligible the ratio of rate of flow through the two pipes should be equal to

(1) 23-‘2
(2) 325
(3) 252
(4) 332

21 At =1 S9E, 590 e = e g S T B U B UF o 9 geR B O o | T w21 4 T fRufy # ofy S ot fm e e e
2, 3R SF &1 $1 v g§ I Afa € U 8ig o & T © @ a1 AR § § 9 ¥aTe 8% B 39 o491 8R

(1) 232
(2 325
(3) 2372
(4) 332
1[Option ID=20557]
2[Option ID=20558]

3[Option ID=20559]
4[Option ID=20560]

Sl. No.48
QBID:869142423




Match List I with List IT

LIST I LISTII
. . Contour of equal
A, Flow duration curve I ;
rain fall
B. Instantaneous Unit i B
hydrograph
C. Isohyte jij Bl dlostaphios
zero duration
Direct runoff Variability of stream
D. Iv.
hydrograph flow

Choose the correct answer from the options given below :
(1) A-IV, B-III, C-1, D-TI
(2) A-II, B-III, C-IV, D1
(3) A-1. B-IV. C-II. D-II
(4) A-IL B-IV, C-1. DI

It 1 & |1 g 11 @1 e Sifeu)
Tl 1 T I
A. YOG @Y O 1. sUsR gl &1 ufaen
B. T&le AEE oanE 11 S-9F
T gy &1 HES
TEaEt I1I. et

D. vy 9% JaE Iv. m

= feu 7 Gecdi § 9 951 ST &1 994 Syl
(1) A-IV. B-III. C-1. D-II

(2) A-IIL B-III, C-IV, D1

(3) A1 B-IV, CI. D-III

(4) A-IIL B-1IV, C-1. D-III

1[Option ID=20561]

2[Option ID=20562]

3[Option ID=20563]
4[Option ID=20564]

Sl. No.49
QBID:869142424

Given below are two statements:
Statement I : In an nitially dry soil, the infiltration rate is low at the beginning of the ram or irrigation.

Statement IT : The basic infiltration rate of a zoil is approximately equal to the permeability of saturated soil.
In the light of the above statements. choose the most appropriate answer from the options given below:
(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement IT is incorrect

(4) Statement I is incorrect but Statement II is correct

BICEARIE Rrty g

DY [ 1 U URTHE b go1 § a9t a1 {9 & g% & ofa: wed o e a2

Y 11 ; 50 ge7 #1539 3fa: TeT o YT 999 5el i UTEal F e B

SRR $UF & @S 4, i 4y 70 [Gsedt # § 9t I 1 9 i

1) FEIFRINSH T2

(2) =F 1 AR &1 o &

(3) FYH 1 ¥ &, Wit YA 11 39 &

4) T s AT e I a8

1[Option ID=20565]
2[Option ID=20566]
3[Option ID=20567]
4[Option ID=20568]




Sl. No.50
QBID:869142425

Given below are two statements:

Statement I : The sum of the specific yicld and specific retention would be equal to the porosity of the given soil formation.

Statement II : The product of the average specific yield of a saturated water bearing formation and its total volume gives the volume of
water which can be recovered from the formation by gravity drainage.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is mcorrect but Statement II is correct
1 2 B few B

Py [ ; faft sae IR ity yro 1 Wi & 15 ge W #1 w@iwar & e g o
Y I ; T o feaaT a1 &1 3iad AR S1g ik 366 $0 ua- &1 0% Sa- UHT &1 a4 adl o1 a1 Te@ smarg @ w9 9 ud

Tﬁm?lﬂﬁﬁz&mﬁiﬁ%qmﬁaﬁqﬁﬁﬁﬂﬁmaﬂwaﬁﬁm
1) TElAR s

(2) FYF 1 R 11 EHf o &

(3) FYA [ 90 & Tfch Bue 1 3T &

(4) U] e g AT FuT [ 90 &

1[Option ID=20569]

2[Option ID=20570]

3[Option ID=20571]

4[Option ID=20572]

Sl. No.51

QBID:869142426
A triangular shaped direct runoff hydrograph of a storm is obtained from a catchment with an area of 40 km 2 . If, the base period and the
peak flow rate are given as 60 hours and 20 m 3 /s, respectively, then the rainfall excess that has resulted the above hydrograph should be

(1) 4.8 cm

(2) 54 cm

(3) 6.2cm

(4) 6.8 cm

TF GFH 31 BET &R $1 vde 9 SoE UF wIel 9 0 eia 81 5wt A% 40 km? 81 3z & 78 anur amfy i ofid varg g2 60 92 SRk
20 B3 /A%vs § df gl &1 AF S gy U e g Fm g
(1) 4.8 94

(2) 5.4 9

(3) 6.29

(4) 6.8 9.

1[Option ID=20573]

2[Option ID=20574]

3[Option ID=20575]
4[Option ID=20576]

Sl. No.52
QBID:869142427

Match List I with List IT :

LISTI LISTII

Blaney-Criddle
Equation

Rational Method II. Rainfall Excess
Muskingum Method III. Evapotranspiration

SCS Runoff Curve
Number method

I. Flood routing

o iRl &

IV. Peak Flood

Choose the correct answer from the options given below:
(1) AL B-IV, C-1, D-II
(2) AL B-III, C-IV, DI




(3) A-I B-IV., C-II. D-III
(4) A-1V, B-II. C-1. D-II

T 1 %1 9 11 9 T S

Tl 1 T 10
A, =HI-fEsw adiEw 1. @rg qr fefm
B. ulwy (e &l . sfa®
C. wEE=m G III. oo areiea At
- SCS 918 3% T8 IV, = i) g

fafy

9 f2u U Aol # 9 951 IR 1 994 Syl
(1) A B-IV, C-I,D-II

(2) A-IL B-III. C-IV. D-I

(3) A1 B-IV, C-I. D-III

(4) A-IV. B-II, C-1. D-III

1[Option ID=20577]

2[Option ID=20578]

3[Option ID=20579]
4[Option ID=20580]

Sl. No.53
QBID:869142428
The water table in an aquifer extending over an area of 150 ha is dropped by 2.0 m. Given that the porosity and specific retention are 35

percent and 10 per cent respectively. the change in ground water storage should be equal to

(1) 3.00.000 m?
(2) 7.50,000 m?
(3) 9.50.,000 m?
(4) 10.50.000 m?

U oA [TEET A% T 150 ha & &1 U9 WowR 2.0 HeX &4 81 a1 21 afe Stwar ok Rftw sro &1 59 35 widse @iw 10 gfoea 2 & OF o Hswn
# gfygd= =41 s

(1) 3.00.000 m?
(2) 7.50.000 m?
(3) 9.50,000 m?
(4) 10.50,000 m?

1[Option ID=20581]
2[Option ID=20582]
3[Option ID=20583]
4[Option ID=20584]

Sl. No.54
QBID:869142429

The location of three observation wells is as shown m the following figure. If the total head n Well-1, Well-2 and Well-3 are 20.8 m,
20.4 m, and 20.6 m. respectively, then the hydraulic gradient should be

Well-2 Well-3
100 m .

200 m

Well-1| v




) U[SO(}«E]

2 J2/500
3) 1.![1000\5]

@ J2/1000

fau e o & 9 smaifea ol &t Rufy fgwrs 7 81 ofE 3a 9f @) =19 Fon 1, Fon 2 s Far 3 9 20.8 M, 20.4 A, 3w 20.6 . 21 &t wefig
a1 A9 1 GRTT

Haff -2 P -3

— 100m ——

200 m

Paf -1

]
e u[su(]ﬁ]
@ J2/500

3) 1.![1000&]

@ J2/1000

1[Option ID=20585]
2[Option ID=20586]
3[Option ID=20587]
4[Option ID=20588]

Sl. No.55
QBID:869142430

Two monitoring wells. 400 m apart, are located along the direction of groundwater flow in a 20 m thick aquifer. If the difference in
piezometric head in the wells is 1.6 m and the hydraulic conductivity is 45 m/day, then the rate of flow per meter of distance
perpendicular to the flow direction should be equal to ;

M 3.6m3d

(2) 10.4 m%/d
(3) 28.8m3/d
(4) 36.0m3/d

Tl vEifd $U o U6 g 9 400 M. @ 7 SR Aivwa weTe @ fawn 7 0F 20 Hiex A 99 w1 A R 81 3 ol F o v i @) H AR 1.6 AL R
TR et ATl 45 6/ 2, O wars X wia A gf vars it 3w & Sl fawm # @ gkt

(1) 3.6m/d

(2) 10.4 m¥/d
(3) 28.8m3/d
(4) 36.0m3/d

1[Option ID=20593]
2[Option ID=20594]
3[Option ID=20595]
4[Option ID=20596]

Sl. No.56
QBID:869142431

Given below are two statements:

Statement I : Hardness in water is caused by the presence of multivalent cations.

Statement II : Iron and Manganese are major contributors to hardness in natural water.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are correct




(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement IT is correct

41 g wuE fer R

Y 1 : I H SO sgaead YA 1 Uit & SR e 2
Y 11 : TE1 AR HTHT Meias TH § $6Ra & TgE 9ear gl
IiE FYF & o[ 4, A foy o feedl § ¥ 95 ST &1 999 S

(1) ®yF ] R 11 §Hf 90 &
(2) ®YF 1 R 11 &1 @ &
(3) FYA [ 9 §, Tfh Bue [T 3/ &
(4) FYH] 3Nd ¢, AT FUF [ 90 3

1[Option ID=20597]
2[Option ID=20598]
3[Option ID=20599]
4[Option ID=20600]

Sl. No.57
QBID:869142432

Water, containing hardness of 5.0 milliequivalent/litre, is to be removed using an ion exchange softener. Available resin material has the
hardness exchange capacity of 100 kg/m°. The volume of resin required to treat 10,000 m?/d of water is

(1) 0.5 m?

(2 5.0m?

(3) 12,5 m?

(4) 25.0m3

arh, format serar 5.0 findt safiatve/diex & &1 e=ae ue oo fafmn ggerdt &1 wam &Y & fasan o 21 Suas o verd &1 sear afm gman
100 ke/m?3 21 10,000 H3/d urft ¥ fore FrofafEa smoaa & Wom 91 smawgsal gFfl

(1) 0,543

(2 5042

(3) 12.5#3

4 25042

1[Option ID=20601]
2[Option ID=20602]
3[Option ID=20603]
4[Option ID=20604]

Sl. No.58
QBID:869142433

Which of the following is not a physical parameter of water quality?
(1) Turbidity

(2) Conductivity

(3) Suspended solids

(4) Odour

fmfalad & 9 SF-m1 T B Qe 51 AifeE e T8 8

(1) enfderan

(2) dAMEASRdAl

(3) fdifeE 2w

(4) 1y

1[Option ID=20605]
2[Option ID=20606]
3[Option ID=20607]
4[Option ID=20608]

Sl. No.59
QBID:869142434

In the absence of alternate sources of water, the permissible limit for total dissolved solids as recommended by the BIS Code IS 10500:
2012 is

(1) 800 mg/l
(2) 1500 mg/l
(3) 2000 mg/l




(4) 2500 mg/l

Fuil & dfeus didl F egufufy # BIS #15 IS 10500: 2012 &1 o ¥ quR fafia 19 &1 sgaa S o &
(1) 800 & afex

(2) 1500 &z /efex

(3) 2000 fan e

() 2500 o /diex

1[Option ID=20609]
2[Option ID=20610]
3[Option ID=20611]
4[Option ID=20612]

Sl. No.60
QBID:869142435

Which of the following contribute to temporary hardness in water?

(1) Calcium bicarbonate
(2) Calcium chloride
(3) Calcium nitrate

(4) Calcium sulphate

frefafEa & 3 fFaw o 31 smurlt SeRar § areE 22
(1) Hfcuras SsaEie

(2) Fiewmm wREs

(3) Hfcwmm A15ge

(4) Feemm aethe

1[Option ID=20613]
2[Option ID=20614]
3[Option ID=20615]
4[Option ID=20616]

Sl. No.61
QBID:869142436

Jar test is commonly used to determine the

(1) Mmimmum amount of chlorine does
(2) Optimum dose of coagulant

(3) Sludge volume index

(4) Conductivity of water

VR GHEr F1 YR aa: | i s e @
(1) =R S &1 gAaH Jr=

(2) ®ha® B SgHead AEl

(3) HUF HHA- JaRF

(4) ot 1 FEa

1[Option ID=20617]
2[Option ID=20618]
3[Option ID=20619]
4[Option ID=20620]

Sl. No.62
QBID:869142437

Silica scale is used to measure

(1) Turbidity

(2) Hardness

(3) Alkalinity

(4) Total dissolved solids

Ffere ame F1 v FefatEd &1 A § o gl
(1) apfEaa

(2) Tara

(3) &dTan

(4) % fouida S




1[Option ID=20621]
2[Option ID=20622]
3[Option ID=20623]
4[Option ID=20624]

Sl. No.63
QBID:869142438

The suggested Gt value for design of a flocculation tank is given as 1.08 x 10 ° with an average velocity gradient of 30 per second. What
should be the volume of flocculation tank required to treat 30,000 m3/d of water?

(1) 850 m?
(2) 1000 m?
(3) 1125 m?
(4) 1250 m?

ol 2w & wftmes (fewre) & R genfaa Gt =1 9, siwa &7, vavmr 30 iy G%vs & @ 1.08 = 10° &z @1 21 30,000 m?/d o+ #t Syarfa
P & 00 T & F1 @G 5 B

(1) gs0 3
(2) 1000 #t3
(3) 1125 #3
(4) 1250 %3

1[Option ID=20625]
2[Option ID=20626]
3[Option ID=20627]
4[Option ID=20628]

Sl. No.64
QBID:869142439

9.0 m 3 of sodium chloride solution is to be applied at a rate of 40 litre/m 2 /min for regeneration of an ion exchange unit. The approximate
time required for simultaneous regeneration of five units, each having the diameter of 2.0 m and a height of 1.8 m, will be

(1) 1.25 hours

(2) 2.5 hours

(3) 4.5 hours

(4) 6.25 hours

TF 1 fafma [@fe)  Jueeyss & faw 0.0 @3 Sifson wivige faga &1 40 derdl2/fime @1 1 § sgvge fem o 21 o9 [gfae) & seeiie
TREHE & [T T Saeas §HY &1 A9 &1 5 afg X gie &1 3 2,0 Hiex ok S=r5 1.8 #. 81

(1) 1.25 €@

(2) 2549

(3) 4.54a

(4) 6.25

1[Option ID=20629]
2[Option ID=20630]
3[Option ID=20631]
4[Option ID=20632]

Sl. No.65
QBID:869142440

A filter bed of 0.60 m depth having a porosity of 40 percent is fluidized such that the porosity of the fluidized bed is 70 percent. What

will be the length of fludized bed ?

(1) 1.05m

(2) 1.20m

3) 1.33m

(4) 1.67Tm

gﬂﬁﬂﬁw,mﬁmo.éoﬁﬁﬁaﬁ?mmm TR & &1 aXie (60l S ol G SRR & el 70 Hsd & aRied §R @i orars #
?

(1) 1.05 #iex

(2) 1.20 #iem

(3) 1.33 #iex

(4) 1.67 9ie”

1[Option ID=20637]

2[Option ID=20638]

3[Option ID=20639]
4[Option ID=20640]




Sl. No.66
QBID:869142441

Which of the following is/are not a kind of gravity filter
(1) Slow Sand Filter

(2) Pressure Filter

(3) Rapid Sand Filter

(4) None of the above

FfEs & @ 21 9/ 4 Teamiu el ®1/% R 78 §
(1) i STe] fEFeex

(2) =9 et

(3) g =1 ftheex

(4) TR H I F T80

1[Option ID=20641]
2[Option ID=20642]
3[Option ID=20643]
4[Option ID=20644]

Sl. No.67
QBID:869142442

Which of the following is not a technique used in composting?
(1) Aecrated static pile composting

(2) Anaerobic static pile composting

(3) Windrow composting

(4) In-vessel composting

FfafEa & @ a9 ae-e s § 5 T8 g

(1) Tifoa Wt g9 FEiRe

(2) ada RfE g7 S

(3) fovs o eI

(4) 57-09a HHIRET

1[Option ID=20645]
2[Option ID=20646]
3[Option ID=20647]
4[Option ID=20648]

Sl. No.68
QBID:869142443

The process in which various components of municipal solid wastes are subjected to partial combustion under a controlled amount of air
is known as

(1) Incineration

(2) Pyrolysis

(3) Gasification

(4) Vitrification

75 Wima o TRaTae # 8 oW & Ofim uee! &1 i a7 &1 Fafa A 1 591 9 gHiad a1 o &, 99 70 #6d o7
(1) HEfiEm

(2) STE-HUHgEA

(3) i

(4) &=MEA

1[Option ID=20649]

2[Option ID=20650]

3[Option ID=20651]
4[Option ID=20652]

Sl. No.69
QBID:869142444

Given below are two statements:

Statement I : Thermocoal or Styrofoam present in MSW can be processed to recover fuel and other by-products.

Statement IT : Thermocoal or Styrofoam present in MSW can be powdered and made into sheets, which can be used to make
furniture.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are correct




(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is mcorrect but Statement II is correct

2 2 wuA fRw M B

PY [ ; YHiSE T1 REUEW, o MSW H 3Ufd 511 & &1 76H 33& 347 3N SuIdE & [ W a1 o 9%l ¢l

Y I ; YIS 1 wisdem, of MSW # Sufyd §1a1 § &1 90 3¢ Wal (@40 # [ e o1 gear 21 fome wim v 599 # a1 o 2
IUilE HYH & AT H, A fou e faeedl J § 951 3T &1 9u4 S

(1) HYF SR IS4 5T &
(2) ®yF 1 R 11 &1 o
(3) TU [ 9@ &, dfe &u= 11 o &
(4) FU] FET &, AP sy [[ T &

1[Option ID=20653]
2[Option ID=20654]
3[Option ID=20655]
4[Option ID=20656]

Sl. No.70
QBID:869142445

Proximate analysis of municipal solid wastes is related to evaluation of

(1) Biodegradability

(2) Combustion properties

(3) Recycelable components

(4) None of these

TRUMF F 3 e F1 g« e Fofifes § 3 59 F g 3 96 &
(1) S g

(2) <& o (faEvary)

(3) [AymUYg s

(4) =15 9 T

1[Option ID=20657]
2[Option ID=20658]
3[Option ID=20659]
4[Option ID=20660]

Sl. No.71
QBID:869142446

Given below are two statements:

Statement I : Overtaking sight distance only applies to single carriage ways.

Statement II : Full overtaking sight distances are much larger in value than stopping sight distances.
In the light of the above statements. choose the most appropriate answer from the options given below:
(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement IT is correct

f2 A e 3l

Yy 1 ; fe @ +F e 9 gu-gd o0 ues aga 9n § ang e 8l

DY 11 ; o1 fever ool gft &1 a1 seeiifia it o=f gfl @ =g fis g &

SRR YA & s 4, 4 4y e fosedl # 95t I @1 9 i

1) FAIIRINIATIE

(2) HYF 1 3R 11 S o &

(3) FYF 1 9@ ¢, B YA I 39a 7

(4) T ] o9 2, A5 wuF [ 99 &

1[Option ID=20661]
2[Option ID=20662]
3[Option ID=20663]
4[Option ID=20664]

Sl. No.72
QBID:869142447

Considering that sight distance approximates to a straight line for a horizontal curvature with large radius, and that the sight distance
length lies within the curve length, the relationship between the radius (R)., Minimum Offset Clearance (Ms) and sight distance (SD) can
be expressed as:




(1) Mz =SDY6R

(2) Ms = SD%8R

(3) Ms=8R%/SD

(4) Ms=6R%/SD

AT gef g dfaw o ¥ g o e T 3 o # e w9 § o ol g 3 e, 0w 1 o & i fRe E o e, wgoas e e
(T (MS) S =2f gt (SD) & dey Fafifan & wifea g 2

(1) Ms = SD¥6R

(2) Ms =SD%8R

(3) Ms=8R%SD

(4) Ms = 6R%SD

1[Option ID=20665]
2[Option ID=20666]
3[Option ID=20667]
4[Option ID=20668]

Sl. No.73
QBID:869142448

A transition curve is required for a single carriageway road with a design speed of 90 kin/hr. The radius of the connecting curve is 500
m. Assume a value of 0.3 m/s” for the rate of change of radial acceleration. The required length of transition curve should be

(1) 104.17m

(2) 111.28 m

(3) 137.11m

(4) 166.67 m

U UH& digd AR 95& & [, U Wbl 9 &1 [Suns= =ma 90 &l /de1 ok Hoieq (@rsa arem o &1 s 500 #iex & 91y o1awg® 5| 7
WU & UEaT #5182 0.3 m/s] B O ous SHE OF &) o & 5

(1) 104.17 Hiex

(2) 111.28 #iex

(3) 137.11 Hiex

(4) 166.67 Hiex

1[Option ID=20669]

2[Option ID=20670]

3[Option ID=20671]
4[Option ID=20672]

Sl. No.74
QBID:869142449

Camber m road surfaces is introduced to provide

(1) Smooth braking of vehicles

(2) Smooth turning of vehicles

(3) Smooth drainage of rainwater from road surface

(4) Sufficient sight distance

TSF 31 908 & [ $ER @Ha) &1 TRH et 31 & ° 5y B o 2
(1) Tl B T e & oy

(2) TTE & A7g0 gl & g

(3) TS+ I Iae § 961 & UH & e (amare) # fm

(4) =ity a=f gft & R

1[Option ID=20673]
2[Option ID=20674]
3[Option ID=20675]
4[Option ID=20676]

Sl. No.75
QBID:869142450

The value of SSD for a design speed of 60 kmph (f=0.36. t = 2.5) for two-way traffic m single lane road should be of the order
of

(1) 60m

(2) 80m

(3) 120m

(4) 160m




% TS G4 A6 4, i 7F g F R SSD &1\ 5w ait &1 g afy gae feensa 9w 60 A wfd 9er @ (F= 0.36, t=2.5)

(1) 60 Hiex

(2) 80 Hiex

(3) 120 #Hi=

(4) 160 #Hi==
1[Option ID=20681]
2[Option ID=20682]

3[Option ID=20683]
4[Option ID=20684]

Sl. No.76
QBID:869142451

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Gradient of the road affects the sight distance.

Reason R : While climbing up a gradient, the vehicle can stop immediately; whereas. while descending a gradient, gravity also comes
into action and more time will be required to stop the vehicle.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R iz not the correct explanation of A

(3) A is correct but R 1s not correct
(4) A is not correct but R is correct

Fi2 €1 Fy fau 70 %, UF AU (Assertion A) & w9 H i@ 2 & g8 396 SRV (Reason R) & ¥U H,
YT A ; I &I yaual (gre) <% gl &1 gyTiad Bl 21
PRY R ; UF 214 $I 9gd 990 A167 gid & Gbdl 8, I ¢ 9§ Sa¥d 9 0@ & UHIE & BRUT a5 & &b & O A% §7a 31 sawadsal gt

£l
T BYF F EP F, Aid 198 Y fAwea! # ¥ 951 9o @1 994 S|

(1) A FRR I 90§ SRR, A ¥ 95l e 2
(2) A ¥R R &H w0 & SRR, A 91 w8l o 78 &
(3) ATTEARFTR sma &

(4) AsmataFIRT@?

1[Option ID=20685]
2[Option ID=20686]
3[Option ID=20687]
4[Option ID=20688]

Sl. No.77
QBID:869142452

For water bound macadam base courses the maximum permissible impact value defined by IRC is
(1) 25 percent

(2) 30 percent

(3) 35 percent

(4) 40 percent

o Giftd #%sH YR AF & 8 [RC 11 AT SAd Afadd |19 (€69g) 31 512

(1) 25 witmrd

(2) 30 wier=ra

(3) 35 gl

(4) 40 wieeE

1[Option ID=20689]
2[Option ID=20690]
3[Option ID=20691]
4[Option ID=20692]

Sl. No.78
QBID:869142453




Match List I with List IT

LISTI
(Property of Aggregates (Laboll::i};'w]f]Tes is)
for Roads) =i
A. Durability I. Impact Value
B. Toughness II. Water absorption
C. Hardness II. Abrasion
D. Porosity IV. Soundness

Choose the correct answer from the options given below :
(1) A-III B-IV, C-1, D-II
(2) A-II, B-II, C-IV, D1
(3) A-IV, B-I, C-III, DI
(4) A-IV. B-II. C-1. DI

= 1 & |1y g 11 1 e #iie)

¥t 1 et 10
A, FRef@E 1. witea &g 74
B. =daa 1. O &1 3mEe
C. Fonrd 1. 3o
D. S V. i

= feu U el § 9 951 SR 1 994 Syl
(1) A-III B-IV., C-I, D-II

(2) A-IIL B-III., C-IV. D1

(3) A-IV. B-I, CII, D-II

(4) A-IV. B-II, C-1. D-III

1[Option ID=20693]

2[Option ID=20694]

3[Option ID=20695]
4[Option ID=20696]

Sl. No.79
QBID:869142454

In CBR test, the load value on standard crushed stone for 2.5 mm penetration is
(1) 1370 kg

(2) 1730 kg

(3) 2055 kg

(4) 2505 kg

CBR e & 25 AL & dya & fog A deftd ger o YR &1 917 31 gFm?

(1) 1370 f&am.

(2) 1730 feam

(3) 2055 &

(4) 2505 &

1[Option ID=20697]
2[Option ID=20698]
3[Option ID=20699]
4[Option ID=20700]

Sl. No.80
QBID:869142455

In a flexible pavement. an application of low viscous cutback bitumen to an absorbent surface like granular bases on which binder layer

is placed, is termed as

(1) Seal coat

(2) Prime coat

(3) Tack coat

(4) Surface course




TF TH FiEH, UF HORiNg Fag od gHeR R TR Riues Ra W@ B & R wr shid E e om s s ssa 22
(1) Frdm

(2) fadm @

(3) zw Ty

(4) 989 @F)

1[Option ID=20701]

2[Option ID=20702]

3[Option ID=20703]
4[Option ID=20704]

Sl. No.81
QBID:869142456

Given below are two statements:

Statement I : The purpose of the dowel bar is to effectively transfer the load between two conerete slabs and to keep the two slabs in
same height.

Statement IT : The dowel bars are provided in the direction of the traffic (longitudinal)

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement II is imcorrect
(4) Statement I is incorrect but Statement II is correct

4 g1 wuE fer o R

DY [ 1 U (ol B BT J5 90, &1 BdIC UEH & dF § YR ST THE RIHCRT 3UT S UiEHie &1 99 $ars O 381 8T &
YT 1 : T 55 =1 T6Y TIaETa #1880 § 51 21 (34 @)

IUiEd HYH & AT A, A U U el 7§ gud 9ugad I &1 904 il

1) FEIAR S 9T 8
(2) YA 3R Ml oET 2
(3) HuF [ 9@ 2, A Su I 39 2
4) FF]WEE AETFA [ T &

1[Option ID=20705]
2[Option ID=20706]
3[Option ID=20707]
4[Option ID=20708]

Sl. No.82
QBID:869142457

Given below are two statements:

Statement I : Cutback bitumen ig defined as the bitumen. the vigcosity of which is reduced by a volatile diluents.
Statement IT : The lower grade cutback like RC-1 would be less viscous as compared to the higher grade cutback like RC-4.
In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I is correct but Statement II i incorrect

(4) Statement I is incorrect but Statement II is correct

2 @ v R 2

YA [ ; Fiag 98 faeaaq o5 faeiq ¢ o=t worar sroefio a9=n 50 59 21 96 21

Py I1 ; 5 907 Sfida g8 99 RC-1, 33 477 Sfid 985 RC-4 9 &8 WH & &l

IWIE FUYF F AE §, 1 G0 T el # 9 999 399G 9 &1 994 &gl

(1) HuF [ SR 11 SH w8
(2) sy R IISH Toa g
(3) Fu= [ 98 & fe= == 11 7o &
(4) F¥F 1 a4 &, A6 BUA 11 981 &

1[Option ID=20709]
2[Option ID=20710]
3[Option ID=20711]
4[Option ID=20712]

Sl. No.83
QBID:869142458

In a cement concrete pavement, the width of expansion joint is 2.5 em. The coefficient of thermal expansion of conerete is given as 10 x
1070 per °C. If the laying temperature is 15 °C and the maximum slab temperature during summer is 55 °C, then the spacing between
expansion joints should be




(1) 22.72m

(2) 31.25m

(3) 4545 m

(4) 62.50m

U% dide S@ie Pie § TR wis B 951 2.5 9. 8 $@ic B FHUilg wER B Ui fem g1 10 x 1076 wid °C. af adn awme 15°C § 3R
ufEs &1 Hfean amaE Tt & 55°C B O TR WISt F 9 # ofae #4915
(1) 22.72 Hiex

(2) 31.25 Hiex

(3) 45.45 Hiex

(4) 62.50 Hex

1[Option ID=20713]

2[Option ID=20714]

3[Option ID=20715]
4[Option ID=20716]

Sl. No.84
QBID:869142459

The permissible flexural stress in a dowel bar of diameter ‘d’ is “F and the permissible bending stress in concrete used in the pavement
is “Fy’. In order to obtain balanced design for equal capacity in bending and bearing, the length of embedment of the dowel bar ‘L’ to
be provided at a joint of with ¢ can be expressed as

1

F, L,+8861%
M) 7, =5d|-Lxd_——
|
Fo I,4+8862
2 o £ od :
B i ne
p Lg 190
1
. s 2
®) 1,=5d 'J'—_f’x—'r‘f’ s
ll.f Ld—|-8_8t‘i
1
Fe I,+1552
@ 7 =sd| Ly d
. F, L,+8.85

UF ol BF o1 ol d €, g A dided B8, 3fe $igd # v 819 a1 S@ie ®1 9% Wiaea F, 81 SRR 49 $ g8 ${RA 33 % wgfea
%am%ﬁngaﬁ@sﬁs&m:waﬁamé%‘%%ﬁ@s & &Y EEEl 5 FEiEd § 9 1 5

4 2
@ 1 s ,'%]x!.d—l—&&:
F; " L;+1.56

|

Fo 1,488
® Ly ff_‘{xfd 1 s;
b L 120

1

4 e 2
@ f,d_id!’—_‘r’x;"” 1.5
!I.f Ld—|-8.8t3

1

Fe [, +1.552
Q) l,d—Sc!j'—{xif‘f o
'b “d | 8.8

1[Option ID=20717]
2[Option ID=20718]
3[Option ID=20719]
4[Option ID=20720]

Sl. No.85
QBID:869142460

Based on the recommendations of the Indian Road Congress (IRC) for CBR method of design of pavement, identify the incorrect
statement.

(1) CBR tests should be performed on remoulded soils in the laboratory.




(2) In case of new constructions. the CBR test samples may be soaked in water for four days before testing.

(3) In case of existing roads. sample should be compacted to the field density of sub-grade soil (at OMC or at the field moisture content)
(4) At least five samples should be tested on each type of soil at the same density and moisture content.

YR 9% I (IRC) $1 oeian X aiwiva $EA & f5oms7 91 CBR 3y & fig #19-91 s ad (i 2

(1) warmEmen § CBR Wiam 4=: 71fsd ga1 W fefea s Tifzul

(2) @ Fywio %t fufa & CBR whigw T 1 9 39 & o olieor § ugd ot # firi=n g5 21

(3) oA ToH! B Rl & vy <=f =1 Suinf qa1 F &7 = 9% goea o o 2

(4) T VPR B 481 F FH 9 FH U9 Haed 1 98 THH §7d SR AEa1 7E W &4 T

1[Option ID=20725]
2[Option ID=20726]
3[Option ID=20727]
4[Option ID=20728]

Sl. No.86
QBID:869142461

Three coplanar forces acting in different direction upon a particle keep it in equilibrium. One of the forces has a magnitude of 10 N and
acts towards North. The second force acts towards South-West. What should be the magnitude of the third force if it acts towards East.

(1) 5N
2 10/2N
(3) 10N

4 1042 N

A Eada o o fafte feEnsi & fod su w o @ £ 99 wraen # wEd 21 5 € us o9 &1 9fomE 10N 2 $R a8 9o famn & o e 21 g’
EfEmr-ofindt fean & @1 w1 21 it 90 &1 oo 5@ g ofe 9 o femn H W i @

(1) 5N
2 10/2N
(3) 10N

@) 1042 N

1[Option ID=20729]
2[Option ID=20730]
3[Option ID=20731]
4[Option ID=20732]

Sl. No.87
QBID:869142462

Under an axial load. a circular steel rod experiences a longitudinal strain of 0.0003536 and a lateral strain of 0.0000884. The volumetric
strain experienced by the rod should be equal to
(1) 0.0001768
(2) 0.0002652
(3) 0.0004240
(4) 0.0004420
T e YR F oidid U ooiT ¥ 95 oded Gefy aguT S 21 et 919 0.0003536 #X U weffa f56fE 0.0000884 T # agya st 2
TS G U T e HOE- ARl B /= T g
(1) 0.0001768
(2) 0.0002652
(3) 0.0004240
(4) 0.0004420
1[Option ID=20733]
2[Option ID=20734]

3[Option ID=20735]
4[Option ID=20736]

Sl. No.88
QBID:869142463

The Young’s modulus and the modulus of rigidity for a material are given as 1.2 x 10° N/mm? and 4.8 x 10* N/mm? respectively. The
value of Bulk modulus for this material should be equal to

(1) 3.6 x 10* N/mm?
(2) 6.0 x 10* N/mm?
(3) 7.2 x 10* N/mm?
(4) 8.0 x 10* N/mm?




TS e & T HHiE (IONE) SR Teal AdiE G M Bl 1.2 x 10° N/mm? 3R 4.8 x 10* N/mm? 81 39 9519 &1 31aa+ A/dis &1 eFm

(1) 3.6 x 10* N/mm?
(2) 6.0 x 10* N/mm?
(3) 7.2 x 10* N/mm?
(4) 8.0 x 10* N/mm?
1[Option ID=20737]
2[Option ID=20738]

3[Option ID=20739]
4[Option ID=20740]

Sl. No.89
QBID:869142464
What will be magnitude of effort (P) required at the end of a crow bar, as shown in the figure, to lift a load of 1000 N on the other end.

} 6m |
I'5m 45m
| I

| 4 l

W =1000 N P

(1) 150N

(2) 200N

(3) 250N

(4) 300N

fou g o F SfORE () HERRR U T Y a9 (P) ST Ui 31d S o 1000N ¢ &1 gt R W gardl 8|

} 6m |
I'Sm 435m
I |

A

W=1000N
(1) 150N
(2) 200N
(3) 250N
(4) 300N

we—1 L

1[Option ID=20741]
2[Option ID=20742]
3[Option ID=20743]
4[Option ID=20744]

Sl. No.90
QBID:869142465
An air vessel is 2.0 m long and is 1 cm thick. It has an external diameter of 45 em. What will be the change in length of the vessel if it is

subjected to the longitudinal and circumferential stresses of 11.25 MN/m? and 22.5 MN/m?, respectively?

(1) 0.023 cm
(2) 0.035 cm
(3) 0.045 cm
(4) 0.056 cm
U a1 U o 2.0 Hiex o SR 1 G, Aiel § SuE 9 o 45 941 81 o 31 s # o uia 91 $ifo o 99 W T Y S uiaee ok
aikfie uftea &1 A4 11.25 Mn/m? 3R 22.5 MN/m? &1
(1) 0.023 9.
(2) 0.035 94
(3) 0.045 94
(4) 0.056 =,

1[Option ID=20745]
2[Option ID=20746]
3[Option ID=20747]
4[Option ID=20748]

Sl. No.91
QBID:869142466




A cantilever of length 2.0 m carries a uniformly distribute load of 1.5 kIN/m run over its entire length. In addition, a point load of 2 kN
also acts at a distance of 0.5 m from the free end. What will be the magnitude of the maximum shear force for this cantilever?

(1) 1.0kN

(2) 25kN

(3) 3.5kN

(4) 5.0kN

TF Yoras el amrs 2 92l 8 9 U6 YR e gan 21 1.5 kN/m F 79 ¥ wen R 99H =0 @ ffaia 21 s st ww ik 2 WiN =1 famg
YR JE & U6 Wad ) 9 0.5 #iex 31 gl | o @ 8l YFaas R o T AUsad &Fa 90 1 9iEm I i)

(1) 1.0kN

(2) 2.5kN

(3) 35N

(4) 5.0kN
1[Option ID=20749]
2[Option ID=20750]

3[Option ID=20751]
4[Option ID=20752]

Sl. No.92
QBID:869142467

Tdentify the incorrect statement in the context of bending beams:

(1) The second derivative of the deflection is equal to the curvature.

(2) The slope of the curvature is equal to the flexural rotation.

(3) The slope of the bending moment diagram is equal to the shear force.
(4) The slope of the shear force diagram is equal to the shear force.

&5 & S & daH § sgfd (aa) $YE & g

(1) foraem &1 fEelia ages asd & SRR BT 2

(2) Al S gTd (MaUET) AT YUl & X B &l

(3) T 1YY o7 B T SOEIY qT F SR Gl 5

(4) O%=qu g = F1 21 SOEaw 50 & 9=t 6l 3l

1[Option ID=20753]
2[Option ID=20754]
3[Option ID=20755]
4[Option ID=20756]

Sl. No.93
QBID:869142468

A simply supported beam has a span of 9.0 m and carries a uniformly distributed load of 10 kN/m for a distance of 6.0 m from one of
its end. What will be the magnitude of maximum bending moment for this beam?

(1) 75 kN-m

(2) 80 kN-m

(3) 85 kN-m

(4) 90 kN-m

TF 9 saTiad €6 @ [ 9.00 #. 81 S99 10 kN/m &1 9mE 9 ¥ faafa ¥R, 06 8R ¥ 6.0 HeX gt & b Somm gon 21 siftsan dea
3ol &1 UikoTH F1a S|

(1) 75 kN-m

(2) 80 kN-m

(3) 85 kN-m

(4) 90 kN-m

1[Option ID=20757]
2[Option ID=20758]

3[Option ID=20759]
4[Option ID=20760]

Sl. No.94
QBID:869142469

Consider a simply supported beam with a span ‘L’ carrying a uniformly varying load from zero at end ‘A’ to ‘w’ per meter length at
end ‘B’. The maximum bending moment in this beam will occur at a distance of from the end ‘A’.

@) L/2

2 1./3

(3) 2L/3
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TS 9 saciad &, fome Ewia L § 9iR e ue aae aRad-ig YR 38T ge &, W iR @il of¢ te 8R A W R #1 7F ¥E R w i
Hiex TS g BN B 0F ¢l 3R A ¥ o gffl W <5 &1 994 ol sf¥Ean grm

(1) L/2

@ /43

(3) 2L./3

4 31/2

1[Option ID=20761]

2[Option ID=20762]

3[Option ID=20763]
4[Option ID=20764]

Sl. No.95
QBID:869142470

‘What will be the magnitude of uniformly distributed load that a beam (30 em wide and 20 cm deep). having a span 8 m. can carry such
that the bending stress does not exceed 120 N/mm? ?

(1) 25.0 kN/m

(2) 28.5 kN/m

(3) 30.0 kN/m

(4) 325 kN/m

% &3 (@rens = 30 94, Tevs 20 94 F Fgii 8 41 31 <5 910 IoN T 0F $AH [Faid ¥R $1 IR0 919 Siey aife @6 afoed 120 N/mm?
F 3 77l

(1) 25.0 kN/m

(2) 28.5 kN/m

(3) 30.0 kN/m

(4) 32.5 kN/m

1[Option ID=20769]

2[Option ID=20770]

3[Option ID=20771]
4[Option ID=20772]

Sl. No.96
QBID:869142471

What will be the magnitude of average shear stress in a beam that a 200 mm wide and 250 mm deep if it is subjected to a maximum
shear foree of 75 kN.

(1) 1.50 N/mm?

(2) 2.16 N/mm?

(3) 2.25 N/mm?

(4) 3.33 N/mm?

& <5 o 200 faA. 9t 3w 250 Tt 7ed 21 ofe Se W 75 kN @1 sfiean s aa @ O df <8 % 3ied saueun ufdee w1 afomE
Br?

(1) 1.50 N/mm?

(2) 2.16 N/mm?

(3) 2.25 N/mm?

(4) 3.33 N/mm?

1[Option ID=20773]
2[Option ID=20774]
3[Option ID=20775]
4[Option ID=20776]

Sl. No.97
QBID:869142472

Which of the following is not part of the assumptions made in Euler’s column theory?

(1) The column material ig perfectly elastic, homogeneous and isotropic and obeys Hook’s Law.
(2) The length of column is very large as compared to its lateral dimensions.

(3) The bending stress is very large as compared to the direct stress.

(4) The column will fail by buckling alone.

FfafEa & 3 s sfiuRo siomr wv figia & w38 &

(1) =Y &1 verd guf yery, T SR SRS S § IR g6 & 9OW %1 ureH el o




1[Option ID=20777]
2[Option ID=20778]
3[Option ID=20779]
4[Option ID=20780]

(2) = F ars gt o e # g § agg 9t et )
(3) & Wfeaw, Wy Wfoaa &1 ga-l § 9gd 951 gial o
(4) Y &Ha0 HlHad & B B Gl S|

Sl. No.98
QBID:869142473

Match List I with List IT

LISTI
(End conditions of a
column)

Both ends fiexed
One end fixed and
other free

One end fixed and
other hinged

D. Both ends hinged

(1) AL B-1IV, C-1, DI
(2) A-IL B-IV, C-1. D-III
(3) A-IV. B-1. C-II. D-1I
(4) A-IV. B-IIL C-1. DI

(1) A-III. B-IV, C-1, D-II
(2) A-IL B-IV, C-1. D-III
(3) A-IV, B-I1, C-III, D-II
(4) A-IV, B-II, C-1. D-III
1[Option ID=20781]
2[Option ID=20782]

3[Option ID=20783]
4[Option ID=20784]

LISTII
(Ratio of Effective

Length to actual length)

L |1/42
m leia
oL |1
V. 2

Choose the correct answer from the options given below:

I 1 % |1y I 11 1 e S
Tt 1 mmﬂ?ﬂ;ﬁ]vmﬁw
&y B BR @i Rufar @ e
A FERRRRE L |1/:2
B. T ¥ L i1/2
o far R o gaw -
Fow (B & :
D. sHMfRFmEs @) IV. 2

i feu mu fowadl # 9 981 39 &1 904 Sifem)

Sl. No.99
QBID:869142474

be

(1)

(2)

B L

(3)

Two circular columns, C-1 and C-2. made up of the same material have equal effective length. The diameter of C-1 is half of that of C-
2. Provided that the crippling stress is less than the crushing stress for both the columns. the ratio of crippling load for C-1 and C-2 will




8

(4) -
16

2 g WY C, R C, U5 & 91l § 79 § 3R 3@ THId ThETs SR 81 C, B 3 C, F o0 S A1 81 T1E S0 Siee @1 71 Head Siowe 9
2 T B g HE 2 a1 € 3R €, F R SO R BT Ui T S
1)

(2)

(3)

|_. 00| — fa|—= b=

(4)

L=

1[Option ID=20785]
2[Option ID=20786]
3[Option ID=20787]
4[Option ID=20788]

Sl. No.100
QBID:869142475

What thrust will a round steel rod (EI = 225 N-m?) take without buckling if it is 1.5 m long, perfectly straight. pin-jointed at both the
ends and the load being applied exactly along the axis of the rod?

(1) 493 N

(2) 698N

(3) 987N

(4) 1974 N

TF 7 W19 35 (Bl = 225 N-m?) st s 1.5 #. 2 i pg 2 RS AR m A A ae @i 2 s Sy R R Repo sy moman man € &
TS G 6T T Uit B H1H A0a B

(1) 493 N

(2) 698N

(3) 987N

(4) 1974 N

1[Option ID=20789]

2[Option ID=20790]

3[Option ID=20791]
4[Option ID=20792]




